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Math 6
Test 2
Winter 1998

You have 50 minutes to complete this test. You must show all work to receive
full credit. Each question is worth the indicated value, for a total of 100 points
possible. You may also earn 5 bonus points from the bonus problem. If you
have any questions, please come to the front and ask.
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(10 points) Complete this chart:

Function Domain Range
y=sinx K -/ éj y
y=sinx -~ L x| “Taty<Ta
y=cosx- “l£xe ) 0cyeT
y=tanx R A LjLﬁz
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(5 points) If cscx=5 and cosx<0, find theMvalues of all 6
trigonometric functions of x.

Sinx = '/f Sex=¢

cos x = RV PPt T 3
Y ¢ I \

fanx = 3% cef x=—avg 3y
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(5 points) Rewrite tan(cos'lg] as an algebraic expression. Drawing a

right triangle will help. Your answer should contain no trigonometric
functions.

ttn 0, whee 6 has os B7 %

3 i ’ ppe tan (s %)=

X

J.‘!xzz for ™

J4-x2
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(20 points) Verify these identities:
a) cos x Ssc X _tan x
cot’x
¢ SCX
COSXECX _ osx - L=« Lam'x
cof 2x sinx
= Cosx . Sinix
sSiax (1052)(
=  SinX
(623}
= X
b) cos(x - %)sec x- 1 =0

T
Cos x sec(g - x]

|
cos (x-Th) secx —

i
cos ('(%"‘)> Cos x

W\

ot
cosx sec ( Ta=x)

eosx (SCX
Sinx

- R
= cos (Ma-x) coSx (os X
= SinX SiAX

2IAX _ SIAX

[€2:93 COSX
=0

(10 points) An airplane pilot is following the direction of a highway, at an
altitude of 3000 ft. He sees two trucks on the highway ahead. The angle

of depression to the farther truck is 20° and to the closer is 35°. How far
apart are the trucks?

T
wry = 3000 ~ §2432.43
3000 +anip°®
~C = X
Tan S 3000

x= 3000 toun S&° = 4R84: 14

Y= digtonce between Tvweks
X §a424- 42849.44
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7y 6. (12 points) Simplify and match:

csc x _ d a)

tan x +cot x

|

i

SinX

= Sinx = (0OSX
sinx | cosx -
COS XK S 5
¢ SI0X00SX b)
(x b
sin| =-x |cos(-x) = c)
2
o5 X COSK
d)
sin’x _ b )
sec’x—1
. L2
Sinx Sin‘x
= —
- 2 B )(
+anx $in /pf*x 0
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G, (10 points) Find the exact value of cos(tan™4).
o~
%
tan = 4
<\’X

§ cos (tan” 4)
8
l

—cos’x

cos’x

sec’x

2cos x

Cos X

—sin x cos x

ViF



(8 points) Circle True or False -- Mark answers CLEARLY.

3t=

>

FALSE
ALS

s+ niT

Mg + T

8.
a) cos 6 = V1-sin®0 TRUE
b)  sin7(sinx)=x TRUE
c) An object in harmonic motion with displacement d = 3 cos mx has
a frequency of 0.5 cycles per unit of time.
d) 3sinx= TRUE
decscx
]/ ‘”5
749, (10 points) Find all solutions of 2 sin®x+3 =5sin x.
K SiNKX~=Ssinx 13 =0
@sinx - 3 Ysinx =1)=0
Sinx= 3/;_ Sinx = |
No o T
x= Ta4aaTT
P . . . . .
¢ 10. (10 points) Find all solutions of tan 3¢ = 3in the interval [0,27).
34 = 4 UERE L
e+ aniT
BONUS Question (5 points)

What bridge contains enough wire to wrap around the world three times? Golden Gate

What is written on John Wayne’s gravestone? non |
What are the dots on dominoes called? pigs

.’\.0)



